## Introduction

BORR Coin (BORR) is a pioneering cryptocurrency designed to provide sustainable growth and liquidity to global markets. Our mission is to create a decentralized digital currency with a robust ecosystem that benefits both investors and users. With its unique ecosystem and innovative technology, BORR Coin seeks to offer more than just a digital currency-its goal is to reshape the future of decentralized finance (DeFi).

Unlike other cryptocurrencies, BORR Coin will leverage cutting-edge technology for faster and more efficient transactions, positioning itself as a competitor to platforms like Ethereum and Solana.

## The Team

The BORR Coin project is driven by a team of seasoned professionals with extensive experience in the technology sector. Comprising 8-10 members, the team's expertise spans across blockchain, software development, digital marketing, system architecture, network management, DevOps, backend development and mobile programming.

Additionally, our engineers with mobile application development experience are integral to the project's success. This diverse and highly skilled team will ensure that BORR Coin is developed efficiently and launched successfully on global markets.

# **Total Supply and Distribution**

BORR Coin will have a total supply of 1,000,000,000 (BORR) coins. The distribution will be carried out according to the attached graphic to ensure fairness and transparency. Additionally, users can participate in a community-driven game via our free Telegram app, allowing them to collectively share 10% of the total supply. The distribution process is designed to incentivize active community participation and reward those who support and believe in the project.

# **Initial Funding Requirement**

To launch the BORR Coin project, we require an initial funding range of \$300,000 - \$400,000. These funds will be allocated to the following key areas:

- **Technical Development:** Ensuring the development of a secure and efficient blockchain infrastructure.
- Marketing & Advertising: Expanding the project's reach to global markets.
- Wallet Development: Creating a user-friendly, secure BORR Coin wallet.

# **Liquidity Requirements**

After the initial funding phase, the next step is to secure \$3,000,000 - \$4,000,000 in liquidity. These funds will be utilized to facilitate:

- Active trading of BORR Coin on decentralized exchanges (DEX).
- Establishing and maintaining a healthy liquidity pool, ensuring stability and market activity.

## Roadmap

#### **Phase 1: Launch & Community Building**

- Goal: Establish a strong foundation and create awareness.
- Milestones:
  - o Develop and launch the official website.
  - o Build a strong community through social media.
  - Start initial marketing and outreach to attract early adopters.
- Timeline: 1-2 months

#### **Phase 2: Initial Funding & Testnet Development**

- **Goal:** Raise initial funding and develop a functional testnet.
- Milestones:
  - Secure \$300,000 \$400,000 in funding.
  - Develop and deploy the Borr Coin testnet.
  - Conduct thorough testing and bug fixes.
- Timeline: 3-4 months

#### **Phase 3: Global Market Introduction**

- Goal: Launch Borr Coin on global markets and introduce the Borr Coin wallet.
- Milestones:
  - Develop and launch the Borr Coin wallet.
  - Secure \$3,000,000 \$4,000,000 in liquidity.
  - List Borr Coin on major cryptocurrency exchanges.
- Timeline: 5-7 months

#### Phase 4: Community Growth & Ecosystem Development

- **Goal:** Expand the community and develop the Borr Coin ecosystem.
- Milestones:

- Launch and promote the Telegram app and community game.
- Encourage community participation and reward contributors.
- Develop and integrate decentralized applications (dApps) on the Borr Coin platform.
- Timeline: 6-12 months

#### **Phase 5: Liquidity Enhancement & Exchange Listings**

- Goal: Increase liquidity and expand exchange listings.
- Milestones:
  - Invest in liquidity pools to improve trading volume.
  - List BORR Coin on top 5 global exchanges.
  - Explore partnerships with other projects and platforms.
- Timeline: 12-18 months

#### Phase 6: Ecosystem Expansion & Long-Term Growth

- Goal: Continuously improve the BORR Coin ecosystem and drive long-term growth.
- Milestones:
  - Develop and implement new features and functionalities.
  - Foster strategic partnerships and collaborations.
  - o Expand the use cases of BORR Coin in various sectors.
- Timeline: Ongoing

# Free Telegram App & Community Participation

The BORR Coin community will be nurtured through a free Telegram app designed for fun and engagement. A game will be hosted within the app, with no costs to players. This game will allow users to share 10% of the total BORR Coin supply among themselves.

In addition to fostering engagement, this game will help grow the BORR Coin community while providing users with the opportunity to earn coins simply by participating.

# The World's First & Only Community Coin Project

BORR Coin is set to be the world's first and only community coin project. Unlike traditional cryptocurrencies, users will not only have the ability to buy and sell coins but will also have the opportunity to increase their coin holdings by actively contributing to the project's growth. This unique approach is designed to empower the community and strengthen participation in the BORR Coin ecosystem.

## **Coin Distribution Breakdown**

- 20% Donate to Liquidity
- 20% Added to Ecosystem
- 15% Donate to Development (Crypto & Wallet)
- 15% Burn
- 10% Telegram App (Community Rewards)
- 10% Team
- 10% Giveaways

# **Calculate 3 Million Liquidity Distribution**

## **Step 1: Overall Distribution**

- Total BORR Coins allocated: 550,000,000 (55% of the total 1,000,000,000 BORR Coin supply)
- Total Value: \$3,000,000

#### **Breakdown of Allocations:**

#### 1. Liquidity Pool (20%):

- o BORR Coins: 200,000,000
- This portion is likely intended to be locked in a liquidity pool on a decentralized exchange to facilitate trading.

#### 2. Telegram App (10%):

- o BORR Coins: 100,000,000
- These coins are probably designated for community rewards, airdrops, or incentives related to the BORR Coin Telegram community.

#### 3. Donate & Create Crypto + Wallet (15%):

- o BORR Coins: 150,000,000
- This suggests a dual purpose:
  - Donation: Possibly to a development fund or charity.
  - Creation: Likely related to the development of the BORR Coin cryptocurrency itself and its associated wallet.

#### 4. Giveaway (10%):

- o BORR Coins: 100,000,000
- These coins are likely reserved for promotional giveaways to attract new users and generate interest in BORR Coin.

### **Step 2: Finding the Value Per BORR Coin**

- Calculation: \$3,000,000 / 550,000,000 = 0.0054545 USD/BORR
- Result: So, 1 BORR Coin ≈ 0.00545 USD
  - This means that, at this stage, each BORR Coin is valued at approximately \$0.00545 USD based on the \$3 million total valuation of the allocated 550 million coins.

#### Step 3: Distributing the \$3,000,000 Among Each Category

- Liquidity Pool (20%):
  - o Calculation: (200,000,000 / 550,000,000) \* \$3,000,000 = \$1,090,909 USD
  - This is the dollar value assigned to the 200 million coins allocated to the liquidity pool.
- Telegram App (10%):
  - o Calculation: (100,000,000 / 550,000,000) \* \$3,000,000 = \$545,455 USD
  - This is the dollar value assigned to the 100 million coins allocated for the Telegram App-related activities (community rewards, etc.).
- Donate & Create Crypto + Wallet (15%):
  - o Calculation: (150,000,000 / 550,000,000) \* \$3,000,000 = \$818,182 USD
  - This is the dollar value assigned to the 150 million coins allocated for donations and the development of the cryptocurrency and wallet.
- Giveaway (10%):
  - Calculation: (100,000,000 / 550,000,000) \* \$3,000,000 = \$545,455 USD
  - o This is the dollar value assigned to the 100 million coins allocated for giveaways.

# Finding the Average Price of 1 BORR Coin

- Calculation: \$3,000,000 / 550,000,000 = 0.0054545 USD/BORR
- Result: So, 1 BORR Coin ≈ 0.00545 USD
  - **Explanation:** This calculation determines the average price of one BORR Coin based on the \$3 million total valuation of the allocated 550 million coins.

#### How Many BORR Coins for \$1 and \$100 Investments?

- For a \$1 Investment:
  - Calculation: 1 / 0.005451 = 183.48 BORR Coins
  - o Result: ≈ 183 BORR Coins
    - **Explanation:** This shows how many BORR Coins you could get for a \$1 investment at the calculated average price.
- For a \$100 Investment:
  - Calculation: 100 / 0.005451 = 18,348.62 BORR Coins
  - Result: ≈ 18,348 BORR Coins

Explanation: This shows how many BORR Coins you could get for a \$100 investment at the calculated average price.

## **Profit Calculation if Price Increases**

This section illustrates potential profit based on different price increase scenarios for BORR Coin. It uses the previously calculated figures of approximately 183 BORR Coins for a \$1 investment and 18,348 BORR Coins for a \$100 investment.

#### Scenario 1: Price Doubles (0.00545 USD $\rightarrow$ 0.0109 USD)

- \$1 Investor: 183 BORR Coins \* \$0.0109 = \$2.00 (Profit: \$1.00)
- \$100 Investor: 18,348 BORR Coins \* \$0.0109 = \$200.00 (Profit: \$100.00)

#### Scenario 2: Price Increases $5x (0.00545 \text{ USD} \rightarrow 0.02725 \text{ USD})$

- \$1 Investor: 183 BORR Coins \* \$0.02725 = \$4.98 (Profit: ~\$4.00)
- \$100 Investor: 18,348 BORR Coins \* \$0.02725 = \$499.98 (Profit: ~\$400.00)

#### Scenario 3: Price Increases $10x (0.00545 USD \rightarrow 0.0545 USD)$

- \$1 Investor: 183 BORR Coins \* \$0.0545 = \$9.97 (Profit: ~\$9.00)
- \$100 Investor: 18,348 BORR Coins \* \$0.0545 = \$999.99 (Profit: ~\$900.00)

#### Scenario 4: Price Increases $100x (0.00545 USD \rightarrow 0.545 USD)$

- \$1 Investor: 183 BORR Coins \* \$0.545 = \$99.74 (Profit: ~\$99.00)
- \$100 Investor: 18,348 BORR Coins \* \$0.545 = \$9,999.99 (Profit: ~\$9,900.00)

## **Conclusion**

BORR Coin is more than just a cryptocurrency; it's a movement towards a more inclusive and equitable financial future. By fostering community engagement and rewarding active participation, BORR Coin aims to redefine the role of digital currencies in the global economy.

#### Join the BORR Coin Community

• Website: BORR Official Website

Twitter/X: BORR Twitter
Instagram: BORR Instagram
Telegram: BORR Telegram

• YouTube: BORR YouTube